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MERIE:
M) FH 5 By L L €0 3000 5 MR /K A PR 257 £ 1) NH3-No
FBERHNUEFIA -

AT KR PR . Iml LU, BIFER, DK ANZEARK .

RIALE R FAECH -

PRBOR: Wik S0mLx1 I, 4°CIRAT

WA= B i, A BTN SmL Z8T8K, 7AMAE A, 4CORME: FIAEIIRA] 4 CORTE
WF = W 12mLx1 #, 4°CERAE

BAN= AW WAkx1 3, 4CHRAE: A= B WR: k=1 i, 4CRAE: AR ABBIA B RHRS,
R AATERRN 4 CIRAF—JE;

RANY: Witk smLx1 i, 4°CHRAE

HARRETE:
1. 4HEH . A0HEEZH SR R 1 ) 4%

B TR e B B B0 A, B R AR B IR A B (100 ). $2
B (mL) 24 500~1000: 1 FELA (G 500 J54H B B4 INA ImL $RIGRD, 8 75 B i 4 B sl 4t
B (UK, ThE 20% 8 200w, #7= 3s, [AIFE 10s, EH 30 ¥k); 8000g 4°C & .0» 10min, B LiE, Bk E
RRll

MYl HBASURE (g): RBURAR (ML) 1: 5~10 FIHH] CEIRELZ) 0.1g 4141, AN 1mL $2EL
WO, FATIKAAIH . 8000g 4°CES.L> 10min, HL L&, EUK AR,

2, i GO FEm: BN,

ME L
1. Y6 T EEEFR AT 30min DAL, AT K S 578nm, ZEIEKIAE.
2. BN

W AR e Xf R
FEA (L) 20 20
R (ul) 90
WK (U 90
A= (uld 190 190

IBA), N 37°C/K# 1h J&, 10000g 25°C 50> 10min, H EiEW.
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2. ¥ FIEWRRE 10 % (AL 0.1mL 35, M 0.9mL ZE487K).
3. WEE (F£ 1ml EbtmAr in N R 5138550

e o IR
FRREJE I B (ulD 400 400
A= (ubd 75 75
RAPY uld 75 75
FoARE], EIRCE 20min
ZEMK (p) 450 450

21, T 578nm &b, ZRMKME, EPOLHE A, THE AA=A NEE-A WIRE . S E R .

UE EHItE:

FRvBE A T U E BIRA 75 FE 9 y = 0.0915x +0.0373; x AFRAESIRE (ug/mL), v NBGIE A.

1. M R UE & HIR

AL X B mL fE R A Ipg NH3-N & SO —/MEgE 77 547 .

UE #& /1 (pg/min/mL) =(AA-0.0373) +0.0915x10xV JZE+V #£+T=27.32x(AA -0.0373)

AL S R g LR Tpg NH3-N 52 SO —ANEE J1 507

2. HA, MM 1ug NHs-N 3F &

(1) EFEARBE AR A

AL E S B mg AR AR 1ng NH3-N € SOy — T 547

UE i% /1 (ug/min/mg prot) =(AA-0.0373) +0.0915x10xV Jx M+(V FExCpr)+T =27.32x(AA -0.0373) +Cpr

(2) IEFEAREEE 5

AL X 15 g HEVGE B 1pg NH3-N & SCH— MRS 715407

UE i /1 (pg/min/ g #FHE) =(AA-0.0373) +0.0915x10xV JE+Wx V BV FEE)+T =27.32%(AA -0.0373) +W
(3) HZ4H b BN M 25 P15

AL X B 1 AN B R S B A 1ug NHS-N & SCA—ANERE T 3L

UE i% /7 (ug/min/10% cell) =(AA-0.0373) +0.0915x10xV S &+(500xV FE+V £ 5L) +T=0.0546xAA

10: FRefE4: T: BINE, 60min: V[ REEAREAR: 03mL: VFE: MIARBAER AR
F, 0.02mL; VR REUEAA, 1mL: Cpr: FEAREABIKE, mg/mL: W: FEAM®, g; 500: 4H
P ERA %, 500 Ji.




